[image: ]Bruchgleichungen III


Löse die Bruchgleichungen. Finde zuerst den Hauptnenner HN und danach die Lösungsmenge.
	D = __________
HN: ________  L = {     }
1     x 
— + —————— = 0,5 
x   2x + 1








	D = __________
HN: ________  L = {     }
 12       5      11
————— + —————— = ——
8 + 6y  4 + 3y   10






	D = __________
HN: ________  L = {     }
[bookmark: _GoBack]c - 1   c - 5    - 2c - 3
————— - ————— = ————————————
4 + c   c - 2   c² + 2c - 8









	D = __________
HN: ________  L = {     }
 3f - 2    4 
 ——————— + — = 0
    6f     3f






	D = __________
HN: ________  L = {     }
2x - 3   5x - 15
—————— = ———————
  4x       25x








	D = __________
HN: ________  L = {     }
1   1     1   1
— + —— + —— + —— = 3
v   2v   3v   6v
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